ILLINOIS POLICE OFFICERS' PENSION INVESTMENT FUND



Monthly Statement Overview

State Street Account

- A secure account (the Police Fund Account) has been established for each Article 3 Pension Fund at State Street Bank and Trust.
- Each Police Fund Account is assigned a unique four-digit account number (IPXX).

Transfer of Investment Assets

- Investment assets are initially transferred to the Police Fund Account at the value determined by State Street Bank and Trust and included with the reconciliation receipt previously provided.
- Assets are subsequently valued at the end of each day.
- After asset receipt has been confirmed, investment assets are transferred from the Police Fund Account to the "Transition Pool" where securities are bought and sold to transition the portfolio from the old assets to the IPOPIF asset allocation and investment managers.
- Each Police Fund owns "units" of the Transition Pool corresponding to the value transferred into the pool.
- When most of the transition is complete, the assets are transferred from the "Transition Pool" to the "IPOPIF Pool."

IPOPIF Pool Reporting

- Each Police Fund will own "units" of the IPOPIF Pool.
- Each fund will continue to hold a small amount of the Transition Pool, which will decline over time.
- The monthly report package is organized to show an overall summary of value and performance followed by a summary for each pool and a summary of transactions for the month.
- Each Police Fund's performance for the entire month is stated on the first report page titled <u>Market</u> Value Summary.
- Performance is time weighted rather than value weighted. As such, it reflects the linkage of daily returns over the month. This can result in large percentage returns associated with relatively small dollar amounts.
- Monthly and quarterly performance summaries with asset allocation and investment manager details will be posted on the IPOPIF website.

Report Distribution

- Reports will be accessed online through a dedicated reporting portal. IPOPIF will provide access to all
 Authorized Agents and Account Representatives authorized to access the cash management system,
 State Street Enterprise Cash Flow Module (eCFM). However, the reporting portal is accessed
 separately from www.mystatestreet.com, which is only used for cash management.
- For assistance with report access, please email your request to NRS IPOPIF@nrstpa.com.
- All other questions can be directed to info@ipopif.org or (309)-280-6464.



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$56,424,871.55	\$0.00
Contributions	(\$2.39)	\$55,616,977.55
Withdrawals	\$0.00	\$0.00
Transfers In/Out	\$0.00	\$0.00
Income	\$33,522.61	\$202,809.82
Expense	\$0.00	\$3.85
Realized Gain/Loss	(\$39,390.04)	(\$2,478,224.92)
Unrealized Gain/Loss	(\$1,087,624.05)	\$1,989,811.38
Ending Balance	\$55,331,377.68	\$55,331,377.68

Performance Summary:

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.94%)	6.31%	N/A	N/A	N/A	N/A	N/A	(1.04%)	09/01/2022

VERNON HILLS POLICE PENSION FUND

Fund Name: VERNON HILLS POLICE PENSION

Month Ended: December 31, 2022



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$3,148.03	\$0.00
Contributions	(\$2.39)	\$55,616,977.55
Withdrawals	\$0.00	\$0.00
Transfers In/Out	(\$3,036.49)	(\$55,035,715.21)
Income	\$0.00	\$93,388.97
Expense	\$0.00	\$0.00
Realized Gain/Loss	\$0.00	(\$674,539.25)
Unrealized Gain/Loss	(\$1.45)	(\$4.36)
Ending Balance	\$107.70	\$107.70

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	195.160	0.000
Unit Purchases from Additions	(0.148)	5,599,804.568
Unit Sales from Withdrawals	(188.330)	(5,599,797.886)
Ending Units	6.682	6.682
Period Beginning Net Asset Value per Unit	\$16.130550	\$10.000000
Period Ending Net Asset Value per Unit	\$16.118894	\$16.118894

Performance Summary:

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(0.07%)	69.44%	N/A	N/A	N/A	N/A	N/A	61.19%	09/01/2022

VERNON HILLS POLICE PENSION FUND

Fund Name: Tr

Transition Pool

Month Ended: December 31, 2022



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$1,341,784.54	\$0.00
Contributions	\$0.00	\$0.00
Withdrawals	\$0.00	\$0.00
Transfers In/Out	(\$1,160,524.14)	\$2,108,496.40
Income	\$3,225.66	\$37,127.58
Expense	\$0.00	\$4.59
Realized Gain/Loss	(\$39,823.16)	(\$1,835,729.88)
Unrealized Gain/Loss	\$1,165.83	(\$164,069.96)
Ending Balance	\$145,828.73	\$145,828.73

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	149,417.054	0.000
Unit Purchases from Additions	342.136	6,334,993.694
Unit Sales from Withdrawals	(133,057.386)	(6,318,291.891)
Ending Units	16,701.804	16,701.804
Period Beginning Net Asset Value per Unit	\$8.980126	\$8.711052
Period Ending Net Asset Value per Unit	\$8.731284	\$8.731284

Performance Summary:

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(2.77%)	5.68%	N/A	N/A	N/A	N/A	N/A	0.23%	09/13/2022

VERNON HILLS POLICE PENSION FUND

Fund Name: IPOPIF Pool

Month Ended: December 31, 2022



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$55,079,938.98	\$0.00
Contributions	\$0.00	\$0.00
Withdrawals	\$0.00	\$0.00
Transfers In/Out	\$1,163,560.63	\$52,927,218.81
Income	\$30,296.95	\$72,293.27
Expense	\$0.00	(\$0.74)
Realized Gain/Loss	\$433.12	\$32,044.21
Unrealized Gain/Loss	(\$1,088,788.43)	\$2,153,885.70
Ending Balance	\$55,185,441.25	\$55,185,441.25

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	5,696,060.769	0.000
Unit Purchases from Additions	122,815.676	5,818,876.445
Unit Sales from Withdrawals	0.000	0.000
Ending Units	5,818,876.445	5,818,876.445
Period Beginning Net Asset Value per Unit	\$9.669819	\$9.027581
Period Ending Net Asset Value per Unit	\$9.483855	\$9.483855

Performance Summary:

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.92%)	6.75%	N/A	N/A	N/A	N/A	N/A	5.05%	09/23/2022

Statement of Transaction Detail for the Month Ending 12/31/2022

Date	Description	Amount	Unit Value	Units
VERNON HILLS P	OLICE PENSION			
12/13/2022	Transfers Out	(1,598.06)	16.131369	(99.0654)
12/23/2022	Contribution	(2.39)	16.114309	(0.1483)
12/27/2022	Transfers Out	(1,438.43)	16.114306	(89.2642)
Transition Pool				
12/13/2022	Transfers In	1,598.06	8.993965	177.6814
12/20/2022	Transfer out to IPOPIF Pool	(1,163,560.63)	8.744803	(133,057.3862)
12/27/2022	Transfers In	1,438.43	8.746670	164.4546
IPOPIF Pool				
12/20/2022	Transfer in from Transition Pool	1,163,560.63	9.474040	122,815.6763